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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
==X 3,431,212 3,309,917 121,295
I ZMEEH HASE KA 110,180 107,480 2,700
oo MISXNSE(AMS=ERINZ) 110,180 107,480 2,700
Lol=RAE XA 110,180 107,480 2,700
307 glz2+ol & 90,180 87,480 2,700
02 HAHFHAANGFEX 2,700 0 2,700
o LeEEAE ooz 34 XA
100,000& * 2704 & 2,700
11T MISXASEX 87,480 87,480 0
o LOEZAML 2ZH & N
270,000& 27004 « 128 87,480
402 RIZ2EX201 ™ 20,000 20,000 0
01 U2t EAILE X (KA ) 20,000 20,000 0
o LOEEANE HES 10,000,000& * 14 10,000
o LOEEAML HAEMS X
10,000,000& * 14 10,000
Hegs(=e=x) 3,321,032 3,202,437 118,595
BAEXE(MI=XIIZ) 3,321,032 3,202,437 118,595
M3 =XDIZ X3 3,321,032 3,202,437 118,595
602 G Xl =2 3,321,032 3,202,437 118,595
01 LEHoll Xl = 3,321,032 3,202,437 118,595
= Jlg HX= 3,321,032,000& 3,321,032
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